
Minusrechnen (bis 20 000)

Aufgabe 1

1. 11 935 - 7 109 =   

2. 13 371 - 6 090 =   

3. 19 796 - 11 923 =   

4. 15 100 - 10 798 =   

5. 15 879 - 7 595 =   

6. 9 583 - 3 336 =   

7. 15 061 - 1 521 =   

8. 4 111 - 1 734 =   

9. 19 062 - 14 605 =   

10. 9 430 - 9 260 =   

Aufgabe 2

1. 18 577 - 17 076 =   

2. 13 165 - 11 417 =   

3. 19 250 - 18 811 =   

4. 16 364 - 4 025 =   

5. 9 585 - 9 555 =   

6. 10 154 - 4 004 =   

7. 18 046 - 5 250 =   

8. 17 832 - 7 835 =   

9. 7 511 - 3 084 =   

10. 8 338 - 1 801 =   

Aufgabe 3

1. 12 649 - 5 184 =   

2. 17 784 - 2 147 =   

3. 5 019 - 4 574 =   

4. 15 664 - 8 847 =   

5. 11 626 - 7 225 =   

6. 9 119 - 2 109 =   

7. 17 539 - 2 883 =   

8. 14 064 - 12 673 =   

9. 18 174 - 9 461 =   

10. 10 419 - 5 855 =   

Aufgabe 4

1. 17 614 - 8 602 =   

2. 19 234 - 4 153 =   

3. 18 203 - 13 130 =   

4. 13 654 - 2 268 =   

5. 8 446 - 6 189 =   

6. 19 540 - 18 122 =   

7. 19 560 - 4 937 =   

8. 9 090 - 1 080 =   

9. 13 749 - 13 003 =   

10. 12 093 - 7 460 =   
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Minusrechnen (bis 20 000)
| ANTWORTEN

Aufgabe 1

1. 11 935 - 7 109 =  4 826

2. 13 371 - 6 090 =  7 281

3. 19 796 - 11 923 =  7 873

4. 15 100 - 10 798 =  4 302

5. 15 879 - 7 595 =  8 284

6. 9 583 - 3 336 =  6 247

7. 15 061 - 1 521 =  13 540

8. 4 111 - 1 734 =  2 377

9. 19 062 - 14 605 =  4 457

10. 9 430 - 9 260 =  170

Aufgabe 2

1. 18 577 - 17 076 =  1 501

2. 13 165 - 11 417 =  1 748

3. 19 250 - 18 811 =  439

4. 16 364 - 4 025 =  12 339

5. 9 585 - 9 555 =  30

6. 10 154 - 4 004 =  6 150

7. 18 046 - 5 250 =  12 796

8. 17 832 - 7 835 =  9 997

9. 7 511 - 3 084 =  4 427

10. 8 338 - 1 801 =  6 537

Aufgabe 3

1. 12 649 - 5 184 =  7 465

2. 17 784 - 2 147 =  15 637

3. 5 019 - 4 574 =  445

4. 15 664 - 8 847 =  6 817

5. 11 626 - 7 225 =  4 401

6. 9 119 - 2 109 =  7 010

7. 17 539 - 2 883 =  14 656

8. 14 064 - 12 673 =  1 391

9. 18 174 - 9 461 =  8 713

10. 10 419 - 5 855 =  4 564

Aufgabe 4

1. 17 614 - 8 602 =  9 012

2. 19 234 - 4 153 =  15 081

3. 18 203 - 13 130 =  5 073

4. 13 654 - 2 268 =  11 386

5. 8 446 - 6 189 =  2 257

6. 19 540 - 18 122 =  1 418

7. 19 560 - 4 937 =  14 623

8. 9 090 - 1 080 =  8 010

9. 13 749 - 13 003 =  746

10. 12 093 - 7 460 =  4 633
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